
M  p  C
P  d p  C,    b time.h ( pd gd à  p b
##include<time.h>). C-     v :
•   time d  p  d éé dp   xé ( 1 jv
1970,  p p). E pd  g  p d q g 
é. C é é  é,  p p NULL  g. S yp d
  time_t,  q pd  yp int  long int.

•   clock d  p cd éé dp   xé ( déb
d ’xé d pg). E  pd  g   yp d  
time_t,  q pd   yp int  long int.

D  dx   b  p dfé    d déb  d .
- S     time,  pé  d ’d d  d. S   v
 b  d d   v d yp double, p xp  v d 
 p y p dv (é !),     difftime q p à  
d   dfé   dx  d yp time_t  d  v  double.

- S     clock,  pé  d ’d d  d,  p 
 é   b dé d d gâ  dv é.

Exp. O pp dx  p éd fibo_bete (v  dé).
E gd d’ main pp  dx ,  pé ’g b.

1 int fibo_bete (int n){
2 if ( n == 0 || n == 1){return 1;}
3 else {return fibo_bete (n-1) + fibo_bete (n-2);}
4 }

1 void fibo_affiche_tps (int n){
2 time_t deb = time (NULL);
3 fibo_bete(n);
4 time_t fin = time (NULL);
5 double duree = difftime(fin,deb);
6 printf("n=%d : %fs\n",n,duree);
7 }

1 void fibo_affiche_tps_bis (int n){
2 clock_t deb = clock ();
3 fibo_bete(n);
4 clock_t fin = clock ();
5 clock_t duree = fin - deb;
6 float duree_s = duree/1000000.0;
7 printf("n=%d : %dms",n, duree);
8 printf(" soit %fs\n",duree_s);
9 }

1 printf("%d ----\n", clock());
2 fibo_affiche_tps(36);
3 fibo_affiche_tps(38);
4 fibo_affiche_tps(40);
5 printf("----------------\n");
6 printf("%d \n", clock());
7 printf("----------------\n");
8 fibo_affiche_tps_bis(36);
9 fibo_affiche_tps_bis(38);

10 fibo_affiche_tps_bis(40);
11 printf("----------------\n");
12 printf("%d \n", clock());

2100 ----
n=36 : 1.000000s
n=38 : 2.000000s
n=40 : 6.000000s
----------------
8770421
----------------
n=36 : 840657ms soit 0.840657s
n=38 : 2189553ms soit 2.189553s
n=40 : 5752209ms soit 5.752209s
----------------
17553033.
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